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46- Nobody knows the .........ccccvvvnennnn. of that gold ring. It is so expensive.
1) belief 2) value 3) material 4) difference
47- As a child he had a great ............cccevvniinnnnns in math.
1) size 2) drop 3) fact 4) interest
48- 1 did not have much .........coevvivnnnnens in finding a job.
1) success 2) heart 3) cradle 4) medicine
49- She does not have any .......cccevvveiinniennnnns about computers.
1) sign 2) creation 3) defend 4) knowledge
50- The film ...cccovvvvinnnnnnnn was not very good, but I like the music.
1) themselves 2) myself 3) itself 4) myself
51- The doctors were .......cceevevinniecnnnnn the patients when you came.
1) visit 2) visited 3) visits 4) visiting
52- People who ......ccccevvvennnnnn. in Allah, try hard and never give up.

1) are believing 2) believing 3) believes 4) believe
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53- Where did Steven Jobs .......cccevviiuiiiiinninnns up?
1) grow 2) grew 3) growing 4) was growing
54- Was it coccevneinnnnnnnen when you left home
1) to rain 2) raining 3) rains 4) rained
Cloze Test:
The scientific method is a way to ask and ...... 55....... scientific questions, by making observations
and ...... 56...... experiments. They ask questions and ...... 57....... to find out the answer. You can
use this method, too. Start with a question about something that ...... 58.....you. Organize your
observations and take notes by ...... 59....... . Use all the information you have to .....60....... your
ideas about that question.
55- 1)do 2) hear 3) answer 4) take
56- 1) remembering 2) reading 3) seeing 4) doing
57- 1) grow 2) try 3) defend 4) solve
58- 1) interests 2) drops 3) believes 4) collects
59- 1) myself 2) ourselves 3) themselves 4) yourselves
60- 1) develope 2) protect 3) hope 4) feel
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